Transcript: Kyoto Protocol Lesson

T: We are going to talk about the Kyoto protocol, and as we all know the Kyoto protocol was an initiative where a bunch of countries came together and were trying to reduce emissions.  Now we’ve been discussing philosophers such as Hobbes, Kant, Marx and Rowles.  Teams will present position on the Kyoto protocol from the point of view from their philosopher.  They will come up as a group and need to discuss the protocol from the perspective of their philosopher…  So, when they come up they are actually going to be John Rawles, Karl Marx…Now one of our students today is going to  judge he will be writing down that you state the actual points made in their philosophies as far as their central dogma and will also be addressing, do you address your argument from that central dogma?  Is everyone clear about that? You can bring in any information that is relevant…I will not announce the winner… Do your best and enjoy yourselves and be respectful.

S1:  And although the effects of global warming may not be equal on each country, everyone is affected.  We think that action needs to be taken and whatever is done should be done to every country.
S2:  With that said, we agree the Kyoto protocol’s call to make restrictions on each country, however, we don’t agree in how they’re making the restrictuions.  We believe that countries should be restricted in direct proportion to how much emissions they’re making. So, the top 10 countries, which Zachia stated were China, US, Russia, India, Japan should have the highest restrictions and as we go alower on the emissions scale, those countries would get restricted less.  Coincidently, those countries are actually countries who will be making the most money.  They’re GPN is the highest so they’ll be restricted the most.  As supporters of Kant, we believe that putting restrictions, we’re not only doing this out of good will, we’re still taking into account the economic restraints on underdeveloped countries.

S3:  Placing environmental restrictions on countries that are still not fully developed is immoral because it keeps the powerful upper class in power and the proletariat down.  The Kyoto protocol is an attempt by the rich to keep the poor down and must end now.  Alsao, the revolution will occur when the world reaches the highest levels of industrialization possible.  This is when the proletariat will rise up and overthrow the bourgeoisie but with the Kyoto protocol we will never reach this point.  The protocol must end so that we, the people, the majority can redistribute the wealth and create a truly classless society.

What I’ll do a rotating scenario…two questions from two teams and then two questions from the other two.

S1(Kant):  Basically, what you’re saying, is the redistribution of wealth or development is more important than the environment, but do you have any solution that could be a compromise?  Because, I feel like Marx would agree that people should be allowed to develop and live prosperously but should also reap the benefits of a healthy environment.

S3(Marx):  I think we would support something like if the protocol was more, placed the same restricutions on everybody, or like once a nation reached a certain point in industrialization then they add restritions on them, but it is not fair to put restrictions where the whole country is living in poverty.

S4 (Marx):  You talked about Global Warming, but the US still hasn’t signed the Kyoto protocol.  How do you feel about that?

S5(Hobbs):  We’re taking steps to reduce global warming by experimenting with alternative energies and we’re doing our effort and we just think that we need to stop any further industrialization because we can’t do much about the industries that are already around because we depend on them.

S2(Kant):   So, you guys believe that your intersts are above the intersts of all other nations.  however, what would about the proposed restrictions on underdeveloped nations?

S6 (Hobbs):  We don’t believe that our interests are above others, we believe that we need to be controlled because our base desires are to fulfill our needs and not care about anyone elese.  We’re inherently evil, by definition.  And, not only do we have restrictions, other countries, such as China are supposed to lower their emmisisons standards and Russia, Japan, some countries are allowed to increase so they can develop without being hindered.  But all, in all, baseline:  the world’s carbon emissions has to decrease to 1990 levels…

Overall, very impressive because you took a lot of information and you synthesized it and come up to a very big point of syaing whether or not the k protocol was moral from an environmental standpoint or amoral from an economic stand point and both are valid issues to address.  And what’s interesting is that all this time we have been discussing these philosophers we’ve kept it out of context of economic and environment for the most part but you guys were able to bring in all that information and correlate it.  Very intriguing…Thank you.
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